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l. Evaluate each of the following limit if it exists: (Each 5 peints, total 20 points)
T 1 1 :
(a) limit(—————)(5 points)
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(b) Iimft{Ex ~1)* (5 points)

(c) limi t (x") (5 points)
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2. Evaluate | xe # dx. (10 points)
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3. Letflx)= E-%,wherex eR, ucR, o=0. Toshow that
T a”+i{x—u)
[ flx) dx=1. (10 points)
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(10 points)
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4. To show that limit{ - +...+ =
n?+12 ntsa? nz-l-nzf
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Evaluate |sin”
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xdx . (10 points)
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Evaluate je < dx. {10 points)
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7. Evaluate j(tnl;."-’dx.uupuims)
3k

8. Find and classity all critical points of f{x, ¥) =’ + ' — 3x = 3y (10 points)

9. Use Lagrangian method to solve the following (10 points):
Max flx, y) = 505°7%%
Subject to 150x + 100y = 25000



